
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

LINES AND ANGLES

Others

1. The measure of an angle is twice the measure of its

supplementary angle. Find its measure.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P9Et2SXmAue7


2. Two supplementary angles are in the ratio 2:3.
 Find the

angles.

Watch Video Solution

3. An angle is equal to one-third of its supplement. Find the

measure.

Watch Video Solution

4. Two supplementary angles differ by 
. Find the angles.

Watch Video Solution

340

https://dl.doubtnut.com/l/_nueI4bjfx2yT
https://dl.doubtnut.com/l/_xXYIfDDJkFtA
https://dl.doubtnut.com/l/_psUhFPEVrK9E


5. If the angles 
 and  are

complementary angles, find 

Watch Video Solution

(2x − 10) ∘ (x − 5) ∘

x.

6. Two supplementary angles are in the ratio 
 . Find the

angles.

Watch Video Solution

4: 5

7. If an angle is 
 less than its complement, find its

measure.

Watch Video Solution

28∘

https://dl.doubtnut.com/l/_WME38aWdrW7G
https://dl.doubtnut.com/l/_LC7BbM2W0vw5
https://dl.doubtnut.com/l/_2oKrybls79PK
https://dl.doubtnut.com/l/_oHRPLcff1e9l


8. The supplement of an angle is one-third of itself.

Determine the angle and its supplement.

A.  , 

B.  , 

C.  , 

D.  , 

Answer: B

Watch Video Solution

110∘ 30∘ .

135∘ 45∘ .

125∘ 35∘ .

140∘ 40∘ .

9. Lines 
 and 
 intersect each other at point 
 If 


find all the angles.

Watch Video Solution

PQ RS O.

∠POR : ∠ROQ = 5: 7,

https://dl.doubtnut.com/l/_oHRPLcff1e9l
https://dl.doubtnut.com/l/_CGHs7xPXziEi


10. An angle is  more than its complementary angle.

What is its measure?

Watch Video Solution

14∘

11. If an angle differs from its supplement by  , find the

angle.

Watch Video Solution

10∘

12. Find the angle which is equal to its complement

Watch Video Solution

https://dl.doubtnut.com/l/_CGHs7xPXziEi
https://dl.doubtnut.com/l/_bVrx5GR0Aai8
https://dl.doubtnut.com/l/_TsTwnC8U3ATr
https://dl.doubtnut.com/l/_NPaOGG5S4gjZ
https://dl.doubtnut.com/l/_CsSklEBNWg3B


13. Find the measure of an
 angle which forms a pair of

supplementary angles with itself.

Watch Video Solution

14. Two supplementary angles differ by 
. Find the angles.

Watch Video Solution

340

15. An angle is equal to
five times its complement. Determine

its measure.

Watch Video Solution

https://dl.doubtnut.com/l/_CsSklEBNWg3B
https://dl.doubtnut.com/l/_pWox0y6XoVQN
https://dl.doubtnut.com/l/_g3YWafLH9rd7


16. An angle is equal to
one-third of its supplement. Find its

measure.

Watch Video Solution

17. Two supplementary angles are in the ratio 2:3.
 Find the

angles.

Watch Video Solution

18. The supplement of an
 angle is one-third of itself.

Determine the angle and its supplement.

Watch Video Solution

https://dl.doubtnut.com/l/_HPlzPGcMgXSw
https://dl.doubtnut.com/l/_DAhvGzbBsz6f
https://dl.doubtnut.com/l/_s7AJuuWG5yGE
https://dl.doubtnut.com/l/_LGWWR188ha4c


19. Write the complement of
each of the following angles:
(i)

 (ii)  (iii)  (iv)  (v) 

Watch Video Solution

200 350 900 770 300

20. Write the supplement of
each of the following angles:
(i)

 (ii)  (iii) 

Watch Video Solution

540 1320 1380

21. If an angle is 
 less than its
 complement, find its

measure.

Watch Video Solution

280

https://dl.doubtnut.com/l/_LGWWR188ha4c
https://dl.doubtnut.com/l/_DGlbCoSiwGwM
https://dl.doubtnut.com/l/_YHum1FQuLpLQ
https://dl.doubtnut.com/l/_WjmiaXHVhy5k


22. If an angle is 
more than one half of
 its complement,

find the measure of the angle.

Watch Video Solution

300

23. Two supplementary angles are in the ratio 
. Find the

angles.

Watch Video Solution

4: 5

24. Two supplementary
angles differ by 
. Find the angles.

Watch Video Solution

480

https://dl.doubtnut.com/l/_WjmiaXHVhy5k
https://dl.doubtnut.com/l/_YDxbtW5cOGgK
https://dl.doubtnut.com/l/_EfXuXQIsHpvs


25. An angle is equal to 8
 times its complement. Determine

its measure.

Watch Video Solution

26. If the angles 
 and 
 are

complementary angles, find 

Watch Video Solution

(2x − 10)0 (x − 5)0

x.

27. If the complement of an
 angle is equal to the

supplement of the thrice of it. Find the measure of the

angle.

Watch Video Solution

https://dl.doubtnut.com/l/_gHvZiF8ig41x
https://dl.doubtnut.com/l/_QRE44u4IMaV6
https://dl.doubtnut.com/l/_MnRxlzkQX53X


28. If an angle differs
from its complement by 
 , find the

angle.

Watch Video Solution

100

29. If the supplement of an
 angle is three times its

complement, find the angle.

Watch Video Solution

30. If the supplement of an
 angle is two-third of itself.

Determine the angle and its supplement.

Watch Video Solution

https://dl.doubtnut.com/l/_MnRxlzkQX53X
https://dl.doubtnut.com/l/_PfBuiR6QMwIn
https://dl.doubtnut.com/l/_Hs9PaGOEJLTE
https://dl.doubtnut.com/l/_ebeKdrEzlebD


31. An angle is 
 more than its complementary angle.

What is its
measure?

Watch Video Solution

140

32. The measure of an angle is twice the measure of
 its

supplementary angle. Find its measure.

Watch Video Solution

33. The bisectors of base
angles of a triangle cannot enclose

a right angle in any case.

Watch Video Solution

https://dl.doubtnut.com/l/_sPa8gWY8hyIT
https://dl.doubtnut.com/l/_MzlXYkutMD9X
https://dl.doubtnut.com/l/_CktLN8ohKkK9
https://dl.doubtnut.com/l/_pdeAennYLmGc


34. If the bisectors of the base angles of a triangle
 enclose

an angle of 
prove that the triangle is a right triangle.

Watch Video Solution

1350,

35. In a parallelogram 
 diagonals 

intersect at 
 . Find

the measures of 

Watch Video Solution

ABCD AC and BD

O and AC = 6. 8 cm and BD = 5. 6cm

OC and OD

36. In Fig. 6.13, lines AB and CD intersect at O. If

and , find ∠AOC  + ∠BOE = 70∘ ∠BOD = 40∘ ∠BOE

https://dl.doubtnut.com/l/_pdeAennYLmGc
https://dl.doubtnut.com/l/_QVoQRqEIxVeN
https://dl.doubtnut.com/l/_z0K5MG2VAp91


and reflex .


Watch Video Solution

∠COE

37. In figure, and

. Find . 


ΔODC~ΔOBA, ∠BOC = 125o

∠CDO = 70o ∠DOC, ∠DCO and ∠OAB

https://dl.doubtnut.com/l/_z0K5MG2VAp91
https://dl.doubtnut.com/l/_xzcPdXIu0dAb


Watch Video Solution

38. In Fig. 6.13, lines AB and CD intersect at O. If

and , find ∠AOC  + ∠BOE = 70∘ ∠BOD = 40∘ ∠BOE

https://dl.doubtnut.com/l/_xzcPdXIu0dAb
https://dl.doubtnut.com/l/_lKl3aAay5160


and reflex .


Watch Video Solution

∠COE

39. In Figure, lines 
 intersect at . If 


find 


XY  and MN O

∠POY = 900and a : b = 2: 3, c

https://dl.doubtnut.com/l/_lKl3aAay5160
https://dl.doubtnut.com/l/_nwqRKjuXkRiy


Watch Video Solution

40. In Figure, 
 then prove that 




∠PQR =  ∠PRQ,

∠PQS =  ∠PRT .

https://dl.doubtnut.com/l/_nwqRKjuXkRiy
https://dl.doubtnut.com/l/_5vhTcpzrVjqc


Watch Video Solution

41. If ray 
stands on line 
such that 

, then show that 

Watch Video Solution

OC AB ∠AOC = ∠COB

∠AOC = 90∘

https://dl.doubtnut.com/l/_5vhTcpzrVjqc
https://dl.doubtnut.com/l/_9JEwYGIyPaan


42. In Fig. 6.16, if , then prove that AOB is a

line.

Watch Video Solution

x + y = w + z

https://dl.doubtnut.com/l/_BR3q1WGIl9IZ


43. It is given that ∠XYZ = 64° and XY is produced to point P.

Draw a figure from the given information. If ray YQ bisects

∠ZYP, find ∠XYQ and reflex ∠QYP.

Watch Video Solution

44. Prove that ,The bisectors of base
 angles of a triangle

cannot enclose a right angle in any case.

Watch Video Solution

45. Name the pairs of adjacent angles in the figures given

below : 

https://dl.doubtnut.com/l/_9CxgSuoKvs5x
https://dl.doubtnut.com/l/_1Gxrxuqu8Ce8
https://dl.doubtnut.com/l/_SRdBHCebeFmv


Watch Video Solution

46. In figure, and

. Find . 


ΔODCΔOBA, ∠BOC = 125o

∠CDO = 70o ∠DOC, ∠DCO and ∠OAB

https://dl.doubtnut.com/l/_SRdBHCebeFmv
https://dl.doubtnut.com/l/_v60NB02PdK5U


Watch Video Solution

47. . Show that 

 and 

Watch Video Solution

OA  =  OBand OD  =  OC

(i)ΔAOD ≅ΔBOC (ii)AD  ∣ ∣  BC

48. 
 is a cyclic
 quadrilateral in which:



 Find 

ABCD

BCAD,  ∠ADC = 1100 and ∠BAC = 500. ∠DAC

https://dl.doubtnut.com/l/_v60NB02PdK5U
https://dl.doubtnut.com/l/_EHdngte0FsxZ
https://dl.doubtnut.com/l/_UjGCb2EEc0jF



 Find 


find 

Watch Video Solution

∠DBC = 800 and ∠BAC = 400. ∠BCD

∠BCD = 1000and ∠ABD = 700 ∠ADB

49. How many pairs of
adjacent angles are formed when two

lines intersect at a point?

Watch Video Solution

50. How many pairs of
adjacent angles, in all, can you name

in Figure.

https://dl.doubtnut.com/l/_UjGCb2EEc0jF
https://dl.doubtnut.com/l/_vDzfDkW3KTxc
https://dl.doubtnut.com/l/_PAbjWXXPURst


Watch Video Solution

https://dl.doubtnut.com/l/_PAbjWXXPURst


51. In the figure ,find the value of . 

Watch Video Solution

x

52. In figure, O is the centre of the circle  .

Find X and Y. 

∠BCO = 30∘

https://dl.doubtnut.com/l/_5EemVOyw7fIz
https://dl.doubtnut.com/l/_77YiTnJoCYX6


Watch Video Solution

53. In Figure, ray 
stand on a line 
Ray 
and ray 


are angle bisectors of 
respectively. If


find 

Watch Video Solution

OS POQ. OR

OT ∠POS and ∠SOQ

∠POS = x, ∠ROT

https://dl.doubtnut.com/l/_77YiTnJoCYX6
https://dl.doubtnut.com/l/_KvdCt9BDgEhl
https://dl.doubtnut.com/l/_0Hgztt4aVVx1


54. In Figure, 
 is a line such that 


Find the value of 


Watch Video Solution

ACB

∠DCA = 5x and ∠DCB = 4x. x

55. Given 
 find the

value of 
for which 
will be a line

Watch Video Solution

∠POR = 3xand∠QOR = 2x + 10,

x POQ

https://dl.doubtnut.com/l/_0Hgztt4aVVx1
https://dl.doubtnut.com/l/_U2r1Qqlxsn3j


56. Lines 
 and 
 intersect each other at point 
 If 


find all the angles.

Watch Video Solution

PQ RS O.

∠POR : ∠ROQ = 5: 7,

57. In Figure, 
is a line. Ray 
is perpendicular to
lien 


 is another ray lying
 between rays 

Prove that 


W t h Vid S l ti

POQ OR

PQ
.
OS OP  and OR.

∠ROS = (∠QOS − ∠POS)
1

2

https://dl.doubtnut.com/l/_dqC2CLwe1Ytt
https://dl.doubtnut.com/l/_qDzBTFAUGp05


Watch Video Solution

58. In Figure, 
 is a rectangle. Find the values of 




Watch Video Solution

ABCD

xandy.

59. Prove that the bisectors of a pair of vertically opposite

angles are in the same straight line.

Watch Video Solution

60. If two straight lines intersect
each other, prove that the

ray opposite to the bisector of one of the angles
 thus

https://dl.doubtnut.com/l/_qDzBTFAUGp05
https://dl.doubtnut.com/l/_rfmW8kBNxkNm
https://dl.doubtnut.com/l/_AHKCujNha6P1
https://dl.doubtnut.com/l/_mEz6110gXM8X


formed bisects the vertically opposite angle.

Watch Video Solution

61. If one of the four
angles formed by two intersecting lines

is a right angle, then show that each
of the four angles is a

right angle.

Watch Video Solution

62. The diagonals of a parallelogram 
 intersect at 

A line through 
meets 
 in 
 and 
 in 
 Show that


Watch Video Solution

ABCD O.

O AB X CD Y .

ar(AXYD) = (ARgmABCD)
1

2

https://dl.doubtnut.com/l/_mEz6110gXM8X
https://dl.doubtnut.com/l/_8OYDkhnzsYdf
https://dl.doubtnut.com/l/_t8zsEUmnHNS9
https://dl.doubtnut.com/l/_AudDwr57ByyX


63. In a parallelogram 
 diagonals 

intersect at 
 . Find

the measures of 

Watch Video Solution

ABCD AC and BD

O and AC = 6. 8 cm and BD = 5. 6cm

OC and OD

64. In Figure, lines 
intersect at .


Watch Video Solution

AB and CD O

https://dl.doubtnut.com/l/_AudDwr57ByyX
https://dl.doubtnut.com/l/_KCJUbx7Wazly
https://dl.doubtnut.com/l/_WUwaTgkrnJjX


65. Which of the following
statements are true (T) and which

are false(F)
 (i) Angles forming a linear pair are

supplementary.
 (ii) If two adjacent angles are equal, then

each angle measures .
 (iii) Angles forming a linear pair

can both the acute angles.
{iv) If angles forming a linear pair

are equal, then each of these angles is of measure .

Watch Video Solution

90∘ .

90∘ .

66. Fill in the blanks so as to make the following statements

true:
 (i) If one angle of a linear pair is acute, then its other

angle will be ..........
(ii) A ray stands on a line, then the sum of

the two adjacent angles so formed is ..................
(iii) If the sum

of two adjacent angles is , then the ............ arms of the

two angles are opposite rays.

180∘

https://dl.doubtnut.com/l/_WUwaTgkrnJjX
https://dl.doubtnut.com/l/_AgJ5IvCAkJTW


Watch Video Solution

67. In Figure, 
 are parallel lines
 intersected by a

transversal at 
 respectively. Find 


Give reasons.

















Since  is the intersector 


 and  (Opposite angles








l,m and n

X, Y , and Z

∠1,   ∠2 and∠3.

Let∠1 = 3x and ∠2 = 2x

∠1 + ∠2 = 180∘

⇒ 5x = 180∘

x = 36∘

∠1 = 108∘ , ∠2 = 72∘

m ∥ n and  l

∠3 = ∠1 = 108∘ ∠4 = ∠2 = 72∘

∠7 = ∠5 = ∠2 = 72∘

= ∠5 = 72∘

∠6 = 108∘ = ∠8

https://dl.doubtnut.com/l/_AgJ5IvCAkJTW
https://dl.doubtnut.com/l/_lcwbl9TgyK8g


Watch Video Solution

68. In Figure, given that 
 If 


 determine the

measures
of  and 

Watch Video Solution

AB ∣ ∣ CD

∠2 = (3x − 10) ∘ and ∠8 = (5x − 30) ∘ ,

∠2 ∠8

69. Prove that two lines
 perpendicular to the same line are

parallel to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_lcwbl9TgyK8g
https://dl.doubtnut.com/l/_B5qFXQvPztZg
https://dl.doubtnut.com/l/_hnhx1ERXBQZx


70. If the bisectors of a
pair of alternate angles formed by a

transversal with two given lines are
 parallel, prove that the

given lines are parallel.

Watch Video Solution

71. In Figure, if 
, find 

Watch Video Solution

1m, np and ∠1 = 85∘ ∠2

72. Prove that two lines
 perpendicular to the same line are

parallel to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_e3QpGAZqSJYO
https://dl.doubtnut.com/l/_MuT1JGI69phN
https://dl.doubtnut.com/l/_6lQm2Rc67IKQ
https://dl.doubtnut.com/l/_3LD1TGvvuBrq


73. Prove that if the two
arms of an angle are perpendicular

to the two arms of another angle, then the
angles are either

equal or supplementary.

Watch Video Solution

74. In Figure, 
and 
is any point shown in
the figure.

Prove that:


Watch Video Solution

ABCD P

∠ABP + ∠BPD + ∠CDP = 360∘

75. Two unequal angles of a
 parallelogram are in the ratio


Find all its angles in
degrees.

Watch Video Solution

2: 3.

https://dl.doubtnut.com/l/_3LD1TGvvuBrq
https://dl.doubtnut.com/l/_J6rr0xutqxiA
https://dl.doubtnut.com/l/_VRTGp0xLz88x


76. If each of the two
lines is perpendicular to the same line,

what kind of lines are they to each
other?

Watch Video Solution

77. 
 of a right angle. Prove

that 

Watch Video Solution

∠1 = 60∘ and ∠2 = ( )
rd2

3

l ∣ ∣ m

78. , if 
and 
find 

Watch Video Solution

l,m, n ∠1 = 60∘ , ∠2.

https://dl.doubtnut.com/l/_NonbkoTUVX4T
https://dl.doubtnut.com/l/_mRZLkHuLHSOG
https://dl.doubtnut.com/l/_CxHfTvN7Oe27


79. Prove that two lines
 perpendicular to the same line are

parallel to each other.

Watch Video Solution

80. The opposite sides of a
quadrilateral are parallel. If one

angle of the quadrilateral is 
find the other angles.

Watch Video Solution

60∘ ,

81. Two lines 
 intersect at 
 If 


 , find the measures of 


and .

Watch Video Solution

AB and CD O.

∠AOC + ∠COB + ∠BOD = 270∘

∠AOC,  ∠COB,  ∠BOD ∠DOA

https://dl.doubtnut.com/l/_zgrVAo5GpiRF
https://dl.doubtnut.com/l/_YBCs33jvhW6c
https://dl.doubtnut.com/l/_SxChGk6eaMYR


82. In Fig., 
 is a transversal to
 lines 
 and 


 and 
. Prove that 

Watch Video Solution

p m and n ,

∠2 = 120∘ ∠5 = 600 m ∣ ∣ n

83. Which pair of lines in
Fig. are parallel? Given reasons. 

Watch Video Solution

https://dl.doubtnut.com/l/_SxChGk6eaMYR
https://dl.doubtnut.com/l/_mvB2K95vtgYP
https://dl.doubtnut.com/l/_GJ6PENBifUHr


84. If 
 are three lines such
 that  and 

prove that 

Watch Video Solution

l,m, n l ∣ ∣ m n ⊥ l,

n ⊥ m.

85. If Figure, arms 
OF 
 are respectively

parallel to arms  and 
 or 
 . Prove that 

Watch Video Solution

BA and BC ∠ABC

ED EF ∠DEF

∠ABC = ∠DEF

86. In Figure, arms 
 are respectively

parallel to arms 
 and 
 of 
 Prove that 

h id l i

BA and BCof∠ABC

ED EF ∠DEF .

∠ABC + ∠DEF = 180∘

https://dl.doubtnut.com/l/_u1JLYjHIimbI
https://dl.doubtnut.com/l/_SP87o5YZh1eL
https://dl.doubtnut.com/l/_MC31F66xtStW


Watch Video Solution

87. Which of the following
statements are true (T) and which

are false (F)? Give reasons.
(i)If two lines are intersected by a

transversal, then corresponding angles are equal.
 (ii)If two

parallel lines are intersected by a transversal, then alternate

interior angles are equal.
 (iii)Two lines perpendicular to the

same line are perpendicular to each other.
 (iv)Two lines

parallel to the same line are parallel to each other.
(v)If two

parallel lines are intersected by a transversal, then the

interior angle on the same side of
the transversal are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_MC31F66xtStW
https://dl.doubtnut.com/l/_3Ylr1BqNGZTj


88. Fill in the blanks in
 each of the following to make the

statement true:
 (i) If two parallel lines are intersected by a

transversal, then each pair of corresponding angles
are....
 (ii)

If two parallel lines are intersected by a transversal, then

interior angles on the same side of
the transversal are...
 (iii)

Two lines perpendicular to the same line are.... to each other.

(iv) Two lines parallel to the same line are .......... to each

other.
 (v) If a transversal intersects a pair of lines in such

away that a pair of alternate angles are
equal, then the line

are...
 (vi) If a transversal intersects a pair of lines in such

away that the sum of interior angles on
 the same side of

transversal is 180,then the line are .......

Watch Video Solution

https://dl.doubtnut.com/l/_7qG3PUJZ4jiT


89. Define complementary
angles.

Watch Video Solution

90. Define supplementary
angles.

Watch Video Solution

91. Define Adjacent angles

Watch Video Solution

92. The complement of an acute
angle is ..............

Watch Video Solution

https://dl.doubtnut.com/l/_HdQAJ8xnLDVP
https://dl.doubtnut.com/l/_fs1uIexYTnav
https://dl.doubtnut.com/l/_r1aegwdRDzvJ
https://dl.doubtnut.com/l/_PBZr0jj9pQlZ


93. The supplement of an
acute angle is .............

Watch Video Solution

94. The supplement of a
right angle is ..............

Watch Video Solution

95. Write the complement of
an angle of measure .

Watch Video Solution

x ∘

96. Write the supplement of
an angle of measure 2y ∘ .

https://dl.doubtnut.com/l/_PBZr0jj9pQlZ
https://dl.doubtnut.com/l/_pTqnkLpZBOyh
https://dl.doubtnut.com/l/_Z8RrC10ag2id
https://dl.doubtnut.com/l/_Ma4BbLF95Kan
https://dl.doubtnut.com/l/_UzeWCO6kVUCq


Watch Video Solution

97. If a wheel has six
 spokes equally spaced, then find the

measure of the angle between two
adjacent spokes.

Watch Video Solution

98. An angle is equal to
 its supplement. Determine its

measure.

Watch Video Solution

99. An angle is equal to
 five times its complement.

Determine its measure.

https://dl.doubtnut.com/l/_UzeWCO6kVUCq
https://dl.doubtnut.com/l/_lsB3KlnCbcV4
https://dl.doubtnut.com/l/_CBuAdaVpFgmd
https://dl.doubtnut.com/l/_p2HuFuCLfVXn


Watch Video Solution

100. How many pairs of
 adjacent angles are formed when

two lines intersect at a point?

Watch Video Solution

101. One angle is equal to
 three times its supplement. The

measure of the angle is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

130∘ 135∘ 90∘ 120∘

102. Two complementary
angles are such that two times the

measure of one is equal to three times the
 measure of the

https://dl.doubtnut.com/l/_p2HuFuCLfVXn
https://dl.doubtnut.com/l/_9JA35uj1wRr4
https://dl.doubtnut.com/l/_BqgsxiQoYBXD
https://dl.doubtnut.com/l/_63uT56q3XQeM


other. The measure of the smaller angle is
(a) 
(b) 
 (c)


(d) none of these

Watch Video Solution

45∘ 30∘

36∘

103. Two straight lines 
 intersect one another

at the point 
 If 

then 
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

AB and CD

O. ∠AOC + ∠COB + ∠BOD = 2740,

∠AOD = 860 900 940 1370

104. Two straight lines 
 cut each other at 
 If 


 , then 
 (a) 
 (b) 
 (c)
 
 (d)

Watch Video Solution

AB and CD O.

∠BOD = 630 ∠BOC = 630 1170 170

1530

https://dl.doubtnut.com/l/_63uT56q3XQeM
https://dl.doubtnut.com/l/_8kNYskD5yjXV
https://dl.doubtnut.com/l/_ns3lSbigyqww


105. Consider the following
 statements:
 When two straight

lines
intersect:

(i)adjacent angles are
complementary

(ii)adjacent angles are supplementary

(iii)opposite angles are equal

(iv)opposite angles are supplementary

Of those statements

(a) (i) and (iii) are correct 

(b)  (ii) and (iii) are correct

(c) (i) and (iv) are correct 

(d)  (ii) and (iv) are correct

Watch Video Solution

https://dl.doubtnut.com/l/_ns3lSbigyqww
https://dl.doubtnut.com/l/_MjCmwkPQzXWk


106. Given 
and 
 If 
 is

straight line, then
 the value of 
 is
 
 (b)
 
 (c) 
 (d)

none of these

Watch Video Solution

∠POR = 3x ∠QOR = 2x + 100. POQ

x 300 340 360

107. In Figure, 
 is a straight line. If


then 
(a) 
(b) 
 (c)


(d) 

Watch Video Solution

AOB

∠AOC + ∠BOD = 850, ∠COD = 850 900

950 1000

108. If two interior angles
on the same side of a transversal

intersecting two parallel lines are in the
ratio 
then the2: 3,

https://dl.doubtnut.com/l/_XuzvX2PIdDmq
https://dl.doubtnut.com/l/_bXyk0eZa5Gqv
https://dl.doubtnut.com/l/_swTel6wrdvH2


measure of the
 larger angle is
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

540 1200 1080

1360

109. 
 and 
 are two parallel lines.
 
 cuts 


at 
respectively. 
 is the bisector of 


If 
then 
will be
 
(b)
 
 (c) 


(d) 

Watch Video Solution

AB CD PQ

AB and CD E and F EL

∠FEB. ∠LEB = 350, ∠CFQ 550 700

1100 1300

110. Two lines 
 intersect at 
 If 


 , find the measures of 


and .

AB and CD O.

∠AOC + ∠COB + ∠BOD = 2700

∠AOC,  ∠COB,  ∠BOD ∠DOA

https://dl.doubtnut.com/l/_swTel6wrdvH2
https://dl.doubtnut.com/l/_9yTFc5c3xDFT
https://dl.doubtnut.com/l/_ALiwDQmLKZld


Watch Video Solution

111. In Figure,

Then the value of 
is
(a) 
(b)
 
(c)
 
(d)


Watch Video Solution

PQ ∣ ∣ RS,  ∠AEF = 950,  ∠BHS = 1100 and ∠ABC = x0.

x 150 250 700 350

112. In Figure, if 
what is the value of 
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

l1 ∣ ∣ l2, x? 900

850 750 700

113. In Figure, if 
, what is 
in terms of ?

(a) 
 (b) 
 
 (d) 

l1 ∣ ∣ l2 x + y w and z

180 − w + z 180 + w − z 180 − w − z

https://dl.doubtnut.com/l/_ALiwDQmLKZld
https://dl.doubtnut.com/l/_CF0Nohcf4PKO
https://dl.doubtnut.com/l/_BxHaeOV7twYo
https://dl.doubtnut.com/l/_ixO8k8gBawA0


Watch Video Solution

180 + w + z

114. In Figure, if 
 , what is the value of 
?
(a) 100 (b)

120
(c) 135 (d) 150

Watch Video Solution

l1 ∣ ∣ l2 y

115. In Figure, if 
 what is 
 in terms of x?
 (a)


(b) 
 
(d) 

Watch Video Solution

l1||l2and l2||l4, y

90 + x 90 + 2x 90 −
x

2
90 − 2x

https://dl.doubtnut.com/l/_ixO8k8gBawA0
https://dl.doubtnut.com/l/_aPsduS7J477l
https://dl.doubtnut.com/l/_G7KQwKqeqJfv


116. In Figure, if 
what is the value
of x?
(a) 60 (b) 50

(c) 45 (d)
30

Watch Video Solution

l ∣ ∣ m,

117. In Figure, if line
 segment 
 is parallel to the line

segment 
what is the value
of y?
(a)12 (b)
15 (c) 18
(d) 20

Watch Video Solution

AB

CD,

118. In Figure, if 
 then the measure of 
 is
 (a) 


(b) 
(c) 
(d) 

Watch Video Solution

CP   ∣ ∣ DQ, x

1300 1050 1750 1250

https://dl.doubtnut.com/l/_H5DoOTxEEl8O
https://dl.doubtnut.com/l/_uLiHdVBS5lqj
https://dl.doubtnut.com/l/_4bPQqu53brC1
https://dl.doubtnut.com/l/_fzUUKHcVT1tD


119. In Figure, if 
 , then the measure

of 
is
(a) 
(b)
 
(c)
 
(d)  


Watch Video Solution

AB||HF  and DE||FG

∠FDE 1080 800 1000 900

120. In Figure, if lines 
are parallel, then 
(a) 

(b) 
(c) 
(d)  


l and m x = 200

450 650 850

https://dl.doubtnut.com/l/_fzUUKHcVT1tD
https://dl.doubtnut.com/l/_MmPCTLrztHSv


Watch Video Solution

121. In Figure, if 
, then 
(a) 
 (b) 
 (c) 


(d)  


AB ∣ ∣ CD x = 1000 1050

1100 1150

https://dl.doubtnut.com/l/_MmPCTLrztHSv
https://dl.doubtnut.com/l/_E0h0c8FDLHmb


Watch Video Solution

122. In Figure, if lines 
 are parallel lines,
 then 

(a) 
(b)
 
(c) 
(d)  


l and m x =

700 1000 400 300

https://dl.doubtnut.com/l/_E0h0c8FDLHmb
https://dl.doubtnut.com/l/_QO9cVRC8evP9


Watch Video Solution

https://dl.doubtnut.com/l/_QO9cVRC8evP9

